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Q 1- In how many ways 3 books can be selected out of 10 books if a particular

books 1s always included.

T 1- Fie forelt TorR1Y Tedeh shl SHRT IMHS [T ST AT 10 T&dehl § § 3 TE&ehi ol

<9 Tehd= IR & Tohar ST Fehar 22

120
90
60
240

None of these

m o N>
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Q 2- A password consist of 4 numerical digit 456y which is divisible by 3. In how

many trial are needed to get correct password.

Q2- U&h qTHaE | 4 GE&ATcH: 3 456y BId & S 3 § fovTsT 2raT 31 9! Urdae uTd

0 ok Teru ford gieqon < STTawIehdT 2

|
2
3
4

mo 0w

None of these
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Q 3- In how many ways letter of word MOTIVATION be arranged such that

vowels always comes together.
T4 3- MOTIVATION 318€ &l fohdd Yo § 39 JehTT AR foRaiT SITT foh & AT

Teh 91 3ATd &

4320
3320
3120
5120

None of these

m o 0w
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Q 4- A bag contains 5 white and 3 black balls. Two balls are drawn at random from

the bag. Find the probability that both the balls are of the same color.

Q4- Th AT H 5 {ha 3TN 3 hTct! 114 &) 7§ TGk & H 31 7iq [Hehtell STt 8| $Eeh!

TRIhdT JTd ShITSTT Teh ST e G| T h 2

m o 0w

11/28
|WRY
13/28
7/31

None of these
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Q 5- A problem 1s given to three students whose chances of solving it are 1/2, 1/3
and 1/4 respectively. What 1s the probability that the problem will be solved?
T 5- Teh T < ST ohl <37 SI1aT © TStk 87 ot hl 9vTaHT shHeT: 1/2, 1/3 3T 1/4

N N\ N\ o\ N\
ST 21 THEIT o B B shl SRIT ITRIhdT 27

1/5
2/7
1/4
3/4

None of these

m o 0w
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Q 6- In how many ways letter of word GEOMETRY ne arranged so that each word

start with G and end with Y.

I 6- GEOMETRY Samiufa & 31e 3 fords v § afeerq fram for Uk 32 G &

I 2R Y U 91T 212

Mo 0w >

120
420
720
1080

None of these
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Q 7- In how many ways letter PRESTIGE be arranged such that each word start

with P and end with S.
T 7- AT PRESTIGE &l Tehd Yoh R 8 9 YohTL sI9 % fohaT SITT foh Ik e P 9

RT& B 3T S T HHTH B2

120
60

240
360

None of these

m o 0w
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Question 8-
i) 6x*—7x+2=0
(i) 12y* -7y+1=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 9-
i) 2x*=5x
(i) y> +3y+2=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 10-
1) 4x*=
(i) 2y* +5y+2=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 11-
i) x*-3x-3=1
(i) y* +8y+15=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 12-
(i) 10x*-29x +20=-1
(i) y* -20y+91=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Q 13- The average marked price of two article P and Q i1s Rs 900. If the cost price
of P and Q are in ratio 4 : 5. A shopkeeper sells both article at 20% and 40% profit

respectively and allows a discount of 20% and 40% respectively. Find the cost

price of P.
T 13- 21 9] P 3R Q T A&l 3iehd Hed 900 %o &1 Al P TR Q FIHA AT 4 1 56

AT H 8| Th GohTRR IHT &I 3l SHHIT: 20% HIT 40% AT TSI § S A
20% 3 40% 1 D AT 8. P o1 5hd Hd T shitsial

1200
1400
1000
800

None of these

m o 0w
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Question 13- In how many ways 3 member team can be formed from 4 men and 3

woman such at there should be at least 2 woman.

T 13. 4 TeET 3R 3 Aol § 3 HEEA o Tohell TohI | SI1T ST Hehel1 8 foh T H
FH U kA 2 GiedTd ST I1i"u?

10
12
14
16

None of these

m o 0w
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Question 14- A ball 1s thrown from a hieght of 1080 m on a ground the ball 1s

bounced. 2/3 times of its every last bounce then calculate the total distance covered

by the ball till 1t stopped
T 14- forel Be W 1080 m 3T 52T U ohiE TS theh! ST &, TS ITeH gid] 8l 39h

ek ST IV B 2/3 AT TOhL Tig T 2 i 715 el g1 sh TTUMT hL STel ek foh oI

&k - ST

1600 m
1200 m
1680 m
3240 m

None of these

m o 0w
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Question 14- A ball 1s thrown from a hieght of 1080 m on a ground the ball 1s

bounced. 2/3 times of its every last bounce then calculate the total distance covered

by the ball till 1t stopped
T 14- forel Be W 1080 m 3T 52T U ohiE TS theh! ST &, TS ITeH gid] 8l 39h

ek ST IV B 2/3 AT TOhL Tig T 2 i 715 el g1 sh TTUMT hL STel ek foh oI

&k - ST

1600 m
1200 m
1680 m
3240 m

None of these

m o 0w
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Q 15-45% of 2400 + 25% of 1400 + 32% of 3200 - 75% 012000 =?

3220
4400
5400
6500

None of these

m o 0w
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